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# include <« iostream >
# include < cmath >
using namespace std;
void main()
{
float a, b, c; //7:77?5/2%35(
cout <<"Enter the coefficients of a quadratic equation:"<< endl;
cout <<"\ta:";
cin>>»a;
cout <<"\tb:";
cin»>» b;
cout <<"\tc:";
cin»>c;
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cout <<"The equation is : "<<a<<" x xx x+ "<<b<<" x x+ "< c«<«" =0"<< end];
float d=bxb—-4xaxc;

if(d<=0)

cout «<"The equation has not real solution. "<< endl;
float x1 = ( —b+ sqrt(d))/(2 * a); //f#—
float x2=( —b— sqrt(d))/(2 * a); [/
cout <<"The solutions are:"<< endl; / /G R

cout <<"\tx1 = "<« x1 << end];

cout <<"\tx2 = "<« x2 << end];

cout <<"Check: "<« endl; [ /¥ 21

cout «<<"\ta* x1 * x1 +b*x xl +c="<<ax*xl *xl+bxxl+c<<endl;
cout<<"\tax x2 * x2+bxx2+tc="<<axx2%x2+bxx2+c<<endl;

IBATHS

Enter the coefficients of a quadratic equation:

a1y
b3y
c:2y

The equation is : 1 ¥ x*xx+3%xx+2=0
The solutions are:
xl= -1
X2 = —2
Check:
axxlxxl+tbxxl+c=0
axx2%x2+tbxx2+c=0
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# include < iostream >

using namespace std;
# define Playerl 0;
# define Player2 1;
£ define Tie 2;
void main()

{

int choicel, choice2, winner;
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cout <<"Choose rock(0),cloth(1),or scissors(2):"<< endl;

cout <<"Player £1:"; //1 5Tk
cin»> choicel;
cout <<"Player #2:"; /72 5k Pk
cin»» choice?;
switch(choice2 — choicel) //H W7k £ 45 SR
{

case 0:

winner = Tie;
cout <<"\tYou tied. "<« endl;

break;
case —1:
case 2:

winner = Playerl;
cout <<"\tPlayer # 1 wins."<< endl;
break;
case — 2:
case 1:
winner = Player2;

cout <<"\tPlayer # 2 wins."<< endl;

}

BAT 4

Choose rock(0),
Player #1:2

Player #2:0
Player # 2 wins.

cloth(1),or scissors(2):
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# include < iostream >
using namespace std;
void main()
{
int 1;
long int stranger = 1,millionaire = 100000, balance;
for(i=2;i<=230;i++)
{
stranger = 2 x stranger;
millionaire =millionaire + 100000;

}



}

ia

stranger = stranger/100;

cout <<"stranger: "<< stranger <<" ¥ "<< end];

cout <<"millionaire:"<< millionaire <<" ¥ "<< endl;

/7B ARG ZE B

cout <<" \tbalance = stranger —millionaire = "<« stranger — millionaire <<

"¥ "<< endl;

GE

stranger:5368709 ¥
millionaire:3000000¥

balance = stranger —millionaire = 2368709 ¥
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# include < iostream >

using namespace std;
int Take(long , int);

void main()

{

}

int n, k;
cout <<"Enter a integer:";
cin»>n;
do {
cout «<"location:";
cin»> k;

cout «<<"Digit number "<<k ««<" of "<« n««" is "<« Take(n, k)<< endl;

}while(k>0);

int Take(long n, int k)

{

}

for(int 1=0;1i<k;i++)

n/=10; WES Soyepilitk e

return n% 10;

1B £7 4G

Enter a integer:2467389
location:3 v/
Digit number 3 of 2467389 is 7
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location:5 v/
Digit number 5 of 2467389 is 4
location:0 v/
Digit number 0 of 2467389 is 9
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# include < iostream >
using namespace std;
double polynomial (double, double, double = 0, double = 0, double = 0, double = 0) ;
/1 R EL A
void main()
{
double x;
cout <<"Please enter x: ";
cin»» x;
cout «<<"polynomial(x,1) = "<« polynomial(x,1)<< endl;
cout <<"polynomial(x,1,2) = "<< polynomial(x,1,2)<< endl;

cout «<<"polynomial(x,1,2,3,4) = "<« polynomial(x,1,2,3,4)<< endl;
cout <<"polynomial(x,1,2,3,4,5) = "<< polynomial(x,1,2,3,4,5)<< end];
}
double polynomial(double x, double a0, double al, double a2, double
a3, double ad)

(%,
(
cout <<"polynomial(x,1,2,3) = "<< polynomial(x,1,2,3)<< end]l;
(
(

return a0 + (al + (a2 + (a3 + a4 * x) * X) * xX) * X;

BAT S
Please enter x: 2.36
polynomial(x,1) =1

polynomial(x,1,2) =5.72

polynomial(x,1,2,3) =22.4288

polynomial(x,1,2,3,4) =75.0058

polynomial(x,1,2,3,4,5) =230.108
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# include <« iostream >

using namespace std;

const int SIZE = 3;

typedef int Matrix[SIZE][SIZE];

void print(Matrix);

void rotate(Matrix);

void main()

{
Matrix m={{1,2,3},{4,5,6},{7,8,9}};
cout «<"Before matrix is rotated: "<« endl;

print(m); / /% S E G R 0 4 B
cout <<"After matrix is rotated:"<< endl;
rotate(m); /1 e — AR
print(m); /1% T IR ) AR A
}
void print(Matrix A) /B TR
{
int i, 3;

for(i=0;1<SIZE;i++)
{
for(j =0;J< SIZE; j++)
cout << A[i][7]<<"\t";
cout << endl;

}
void rotate(Matrix A) /e — 4E s
{
int i, 3;
Matrix temp;
for(i=0;1i<SIZE; i++)
{
for(j=0;]j<SIZE; j++)
temp[i][j] = A[SIZE-j—1][i];
}
for(i=0;1<SIZE; i++)
{
for(j=0;9<SIZE; j++)
A[i][]] = temp[i][]];

}
BT

Before matrix is rotated:

1 2 3
4 5 6
7 8 9
After matrix is rotated:
7 4 1
8 5 2
9 6 3
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# include < iostream >
using namespace std;
void invert(int A[], int n) //¥E04 T E RIFEIL
{
int i, j, temp;
intm=(n-1)/2;
for(i=0;i<=m;i++)
{

j=n—-1-1;

temp=A[1];
A[i] =A[]];
A[]] = temp;

}
}
void main()
{
int 1;
int a[10]={0,1,2,3,4,5,6,7,8,9};
for(i=0;1i<10;i++)
cout << af 1]<<"\t";
invert(a,10);
printf("The array has been reverted:\n");
for(i=0;1i<10;i++)
cout << af 1]<<"\t";
cout <« endl;

}
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# include < iostream >

SCIRZ PR AL invert(int A[ ], int n), RRECIE AT S2 3 R

\\

using namespace std;
void invert(int A[], int n) //¥E04H T E R IF K
{



int i, j, temp;
intm=(n-1)/2;
for(i=0;i<=m;i++)
{

j=n-1-1;

temp=A[1i];
A[i]=A[3]1;
A[j] = tenp;

}
void main()
{
int 1;
int a[10]={0,1,2,3,4,5,6,7,8,9};
int * p;
for(i=0;1<10;1i++)
cout << al 1]<<"\t";
p=a;
invert(p, 10);
printf("The array has been reverted:\n");
for(p=a;p<a+t 10;p++)
cout << % p<<"\t";
cout <« endl;

}

BR 3 RN R BUE 2 L BLIZ KL invert(int x AL int n) . B AT SE 208
K.
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# include < iostream >

N

using namespace std;

void invert(int % A, int n) //¥EA T ERITEK

{
int % i, % j, temp, * p;
intm=(n-1)/2;
i=A4;
j=A+n-1;
p=A+m;
for(;i<p;i++,3—-)
{
temp = % i;
* 1= %73,
* j = temp,;
}
}

void main()
{
int i;
int a[10]={0,1,2,3,4,5,6,7,8,9};
for(i=0;i<10;i++)
cout << a[ i]<<"\t";
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